
cf=a= @)&&÷@)&* sf] k|:tfljt Go"gtd d"Nofsg

!= O{6x/L p=d=g=kf=
= O{6x/L jf8{ g+= !-s_

cf=j=077÷078
sf nflu Go"gtd 
d"Nofs+g k|lt s&\&f

s= O{6x/L jf8{ g+= !-s_ dx]Gb| /fhdfu{ ;Fu hf]l8Psf tyf sf]zL 
/fhdfu{;Fu hf]l8Psf hUufx? 

13000000.
/fhdfu{;Fu hf]l8Psf hUufx? 

v= dfly k|s/0f -s_ df k/]sf hUuf afx]s pQm j8fsf bfofF jfofF 
lkr ;8ssf hUufx? 

7500000.

u= dfly k|s/0fx?df -v_ df ;d]t g;d]l6Psf pQm j8fsf cGo leqL 
efusf ;8s jf6f]sf ;fy} bfofF afofF ;8ssf hUufx? 

4500000.

#÷@ O{6x/L jf8{ g+= !-v_

s= O{6x/L jf8{ g+= !-v_ sf d"n ;8s;Fu hf]l8Psf hUufx? 9000000.
v= dfly k|s/0f -s_ df k/]sf hUuf afx]s pQm j8fsf bfofF jfofF 

lkr ;8ssf hUufx? 
6000000.

u= dfly k|s/0f -v_ df pNn]v ePsf jfx]s pQm j8fsf cGo leqL 
efusf ;8s jf6f]sf ;fy} bfofF afofF ;8ssf hUufx?

4500000.

#÷# O{6x/L jf8{ g+= !-u_

s= O{6x/L jf8{ g+= !-u_ dx]Gb| /fhdfu{ ;Fu hf]l8Psf tyf sf]zL 
/fhdfu{ ;Fu hf]l8Psf hUufx? 

13000000.
/fhdfu{ ;Fu hf]l8Psf hUufx? 

v= dfly k|s/0f -s_ df pNn]v ePsf afx]s pQm j8fsf a;kfs{ hfg] 
nufotsf bfofF jfofF lkr ;8ssf hUufx? 

7500000.

u= dfly k|s/0f -v_ ;Dd klg g;d]l6Psf pQm j8fsf bfofF afofF 
;8ssf hUufx?

4500000.

3= dflysf k|s/0fx?df ;d]t g;d]l6Psf O6x/L j8f g+= ! sf leqL 
;8sjf6f]sf hUufx? 

2600000.

ª= dflysf k|s/0fx?df ;d]t gk/]sf O{{6x/L jf8{ g+= ! sf af6f] 
ghf]l8Psf hUufx?

1400000.

#÷$ O{6x/L jf8{ g+= @-s_ / @-em_

s= O{6x/L jf8{ g+= @-s_, @-em_ sf sf]zL /fhdfu{ ;Fu hf]l8Psf 
hUufx? 

4500000.

v= pQm j8fsf bfofF jfof lkr ;8ssf hUufx? 2600000.v= pQm j8fsf bfofF jfof lkr ;8ssf hUufx? 2600000.
u= dfly k|s/0f -v_ df klg gk/]sf pQm j8fsf bfofF jfofF ;8s ;Fu 

hf]l8Psf  hUufx? 
2200000.

3= dfly k|s/0f -u_ ;Dd pNn]v ePsf afx]s pQm j8fsf leqL 
;8sjf6f]sf hUufx? 

1100000.

ª=

dflysf pNn]v ePsf afx]s pQm j8fsf af6f] ghf]l8Psf hUufx? 

500000.

#÷% O{6x/L jf8{ g+= @-v_,u,3,ª,r,5,h,`,6 

s= pQm jf8{Anssf lkr ;8s;Fu hf]l8Psf hUufx? 2500000.
v= k|s/0f -s_ df k/]sf hUuf afx]s pQm jf8{ Anssf bfof jfof 

;8s;Fu hf]l8Psf hUufx?
1400000.

1

;8s;Fu hf]l8Psf hUufx?

u= dfly k|s/0f -v_ df ;d]t g;d]l6Psf pQm jf8{ Jnssf leqL 
;8sjf6f]sf hUufx?

700000.

3= dflysf k|s/0fx?df klg gk/]sf pQm jf8{ Anssf af6f] ghf]l8Psf 
hUufx?

350000.

#÷^ O{6x/L jf8{ g+= # sf ;j} Jnsx?



s= pQm jf8{Anssf lkr ;8s;Fu hf]l8Psf hUufx? 2300000.
v= k|s/0f -s_ df k/]sf hUuf afx]s pQm jf8{ Anssf bfof jfof 

;8s;Fu hf]l8Psf hUufx?
1200000.

u= dfly k|s/0f -v_ df ;d]t g;d]l6Psf pQm jf8{ Jnssf leqL 
;8sjf6f]sf hUufx?

600000.

3= dflysf k|s/0fx?df klg gk/]sf pQm jf8{ Anssf af6f] ghf]l8Psf 
hUufx?

300000.

#÷& O{6x/L jf8{ g+= $-s_

s= O{6x/L jf8{ g+= $-s_ sf bfofF jfofF lkr ;8s;Fu hf]l8Psf 
hUufx?

5000000.

v= dfly k|s/0f -s_ ;Dd k/]sf jfx]s pQm af8{sf bfofF afofF 3000000.v= dfly k|s/0f -s_ ;Dd k/]sf jfx]s pQm af8{sf bfofF afofF 
;8ssf hUufx?

3000000.

u= dfly k|s/0f -v_ df klg gk/]sf pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

1500000.

3= dfly k|s/0f -u_ ;Dd k/]sf afx]s pQm jf8{sf af6f] ghf]l8Psf 
hUufx?

7,50,000.

#÷* O{6x/L jf8{ g+= $-v_

s= O{6x/L jf8{ g+= $-v_ sf d"n ;8s;Fu hf]l8Psf hUufx? 10000000.
v= dfly k|s/0f -s_ df k/]sf hUuf afx]s pQm af8{sf bfofF jfofF 

lkr ;8ssf hUufx? 
6500000.

u= dfly k|s/0f -v_ df klg gk/]sf pQm jf8{sf bfofF afofF ;8ssf 
hUufx?

4000000.

3= dfly k|s/0f -u_ ;Dd klg gk/]sf pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

2200000.
hUufx?

ª= dfly k|s/0f -3_ ;Dd klg g;d]l6Psf pQm jf8{sf af6f] 
ghf]l8Psf hUufx?

1200000.

#÷( O{6x/L jf8{ g+= $-u_

s= O{6x/L jf8{ g+= $-u_ sf w/fg– lj/f6gu/ nufotsf d"n lkr 
;8s;Fu hf]l8Psf hUufx?

6500000.

v= dfly k|s/0f -s_ df k/]sf hUuf afx]s pQm jf8{{sf  bfofF jfofF 
lkr ;8s ;Fu hf]l8Psf hUufx?

4000000.

u= dfly k|s/0f -v_ ;Dddf gk/]sf pQm jf8{ Anssf bfofF afofF 
;8ssf hUufx?

3000000.

3= dfly k|s/0f -u_ ;Dd klg g;d]l6sf pQm jf8{sf leqL 
;8sjf6f]sf hUufx? 

1500000.

ª= dfly -3_ ;Dd k/]sf jfx]s pQm jf8{sf af6f] ghf]l8Psf hUufx? 800000.
#÷!) O{6x/L jf8{ g+= $ -3_

s= O{6x/L jf8{ g+= $-3_ sf sf]zL /fhdfu{;Fu hf]l8Psf hUufx? 7000000.
v= dfly k|s/0f -s_ df k/]sf jfx]s pQm jf8{sf bfofF jfofF lkr 

;8s ;Fu hf]l8Psf hUufx?
5500000.

u= dfly k|s/0f -v_ ;Dd klg g;d]l6Psf pQm jf8{sf cGo bfofF
afofF ;8ssf hUufx?

4000000.

3= dfly k|s/0f -u_ ;Dd klg gk/]sf pQm jf8{sf leqL ;8sjf6f]sf 
hUufx? 

2000000.

ª= dfly pNn]v ePsf jfx]s O6x/L jf8{ g+= $ -3_ sf af6f] 
ghf]l8Psf hUufx?

1200000.

#÷!! O{6x/L jf8{ g+= $-ª_

s= sf]zL nf]sdfu{ -w/fg lj/f6gu/_ ;Fu hf]l8Psf hUufx? 5000000.
v= O{6x/L jf8{ g+= $-ª_ sf lkr ;8s;Fu hf]l8Psf hUufx? 3000000.

2

v= O{6x/L jf8{ g+= $-ª_ sf lkr ;8s;Fu hf]l8Psf hUufx? 3000000.
u= dfly k|s/0f -s_ df klg g;d]l6Psf pQm jf8{sf cGo bfofF afofF 

;8ssf hUufx?
2000000.

3= dfly k|s/0f -v_ df klg gk/]sf pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

950000.

ª= dfly k|s/0f -u_ ;Dd klg gk/]sf O6x/L jf8{ g+= $ -r_ sf af6f] 
ghf]l8Psf hUufx?

500000.



#÷!@ O{6x/L jf8{ g+= $-r_

s= sf]zL nf]sdfu{ -w/fg lj/f6gu/_ ;Fu hf]l8Psf hUufx? 5000000.
v= O{6x/L jf8{ g+= $-r_ sf lkr ;8s;Fu hf]l8Psf hUufx? 2500000.
u= dfly -s_ df k/]sf hUuf afx]s pQm jf8{sf bfof jfof ;8s;Fu 

hf]l8Psf hUufx?
1500000.

3= dfly -v_ ;Dd k/]sf hUuf afx]s pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

700000.

ª=
dfly pNn]v ePsf afx]s O{6x/L jf8{ g+= $-r_ sf af6f] 
ghf]l8Psf hUufx?

400000.

#÷!# O{6x/L jf8{ g+= % -s_, %-v_

s= O{6x/L jf8{ g+= %-s_, %-v_ sf lkr ;8s;Fu hf]l8Psf hUufx? 2400000.
v= dfly -s_ df k/]sf hUuf afx]s pQm jf8{sf bfof jfof ;8s ;Fu 

hf]l8Psf hUufx?
2000000.

u= dflysf k|s/0fdf k/]sf afx]s pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

1000000.

3= dfly pNn]v ePsf afx]s O{6x/L af8{ g+=  %-s_, %-v_ sf af6f] 
ghf]l8Psf hUufx?

400000.

#÷!$ O{6x/L jf8{ g+= %-u_

s= O{6x/L jf8{ g+= %-u_ sf d"n ;8s;Fu hf]l8Psf hUufx? 7000000.
v= dfly -s_ df k/]sf hUufx? Afx]s pQm jf8{sf bfofF jfofF lkr 

;8s ;Fu hf]l8Psf hUufx?
3500000.

u= dfly -v_ ;Dd k/]sf hUuf afx]s pQm jf8{sf bfofF afofF ;8ssf 2700000.u= dfly -v_ ;Dd k/]sf hUuf afx]s pQm jf8{sf bfofF afofF ;8ssf 
hUufx?

2700000.

3= dfly -u_ ;Dd k/]sf hUuf afx]s pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

1500000.

ª= dfly pNn]v ePsf afx]s O{6x/L af8{ g+= %-u_ sf af6f] ghf]l8Psf 
hUufx?

600000.

#÷!% O{6x/L jf8{ g+= %-3_

s= O{6x/L jf8{ g+= %-3_ sf d"n ;8s;Fu hf]l8Psf hUufx? 7000000.
v= dfly -s_ df k/]sf hUufx? Afx]s pQm jf8{sf bfofF jfofF lkr 

;8s ;Fu hf]l8Psf hUufx?
4000000.

u= dfly -v_ ;Dd klg gk/]sf pQm jf8{sf cGo bfofF afofF ;8ssf 
hUufx?

3200000.

3= dfly -u_ ;Dd k/]sf hUuf afx]s pQm jf8{sf leqL ;8sjf6f]sf 1600000.3=
hUufx?

1600000.

ª= dfly pNn]v ePsf afx]s O{6x/L af8{ g+= %-3_ sf af6f] ghf]l8Psf 
hUufx?

800000.

#÷!^ O{6x/L jf8{ g+= %-ª_, %-r_

s= O{6x/L jf8{ g+= %-ª_, %-r_ sf lkr ;8s;Fu hf]l8Psf hUufx? 3200000.
v= dfly -s_ df k/]sf hUufx? Afx]s pQm jf8{sf cGo bfofF afofF 

;8ssf hUufx?
2200000.

u= dfly -v_ df k/]sf jfx]s pQm jf8{sf leqL ;8sjf6f]sf hUufx? 1100000.
3=

dfly pNn]v ePsf afx]s O{6x/L jf8{ g+= %-ª_, %-r_ af6f] 
ghf]l8Psf ;Dk"0f{ hUufx?

600000.

#÷!& O{6x/L jf8{ g+= ^ -s_

3

#÷!& O{6x/L jf8{ g+= ^ -s_

s= O{6x/L jf8{ g+= ^-s_ sf lkr ;8s;Fu hf]l8Psf hUufx? 2600000.
v= dfly -s_ df k/]sf hUufx? Afx]s pQm jf8{sf bfofF jfofF ;8s 

;Fu hf]l8Psf hUufx?
1350000.

u= dfly -v_ df pNn]v ePsf jfx]s pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

700000.

3= dfly pNn]v ePsf afx]s O{6x/L jf8{ g+= ^-s_ sf af6f] ghf]l8Psf 400000.



hUufx?

#÷!* O{6x/L jf8{ g+= ^ -v_, ^-u_

s= O{6x/L jf8{ g+= ^-v_, ^-u_ sf lkr ;8s;Fu hf]l8Psf hUufx? 2100000.
v= dfly -s_ df k/]sf hUufx? Afx]s pQm jf8{sf cGo bfofF jfofF 

;8s ;Fu hf]l8Psf hUufx?
1200000.

u= dfly -v_ df pNn]v ePsf jfx]s pQm jf8{ Anssf leqL 
;8sjf6f]sf hUufx?

600000.

3= dfly pNn]v ePsf afx]s O{6x/L jf8{ g+= ^-v_, ^-u_ af6f] 
ghf]l8Psf hUufx?

300000.

#÷!( O{6x/L jf8{ g+= ^ -3_

s= 2700000.s= O{6x/L jf8{ g+= ^-3_ sf lkr ;8s;Fu hf]l8Psf hUufx? 2700000.
v= dfly -s_ df k/]sf hUufx? Afx]s pQm jf8{Jnssf cGo bfofF jfofF 

;8s ;Fu hf]l8Psf hUufx?
1700000.

u= dfly -v_ df pNn]v ePsf jfx]s pQm jf8{ Anssf leqL 
;8sjf6f]sf hUufx?

800000.

3= dfly pNn]v ePsf afx]s O{6x/L jf8{ g+= ^-3_ sf af6f] ghf]l8Psf 
hUufx?

400000.

#÷@) O{6x/L jf8{ g+= &-s_

s= O{6x/L jf8{ g+= &-s_ sf sf]zL /fhdfu{ ;Fu hf]l8Psf hUufx? 6500000.
v= dfly -s_ df pNn]v ePsf afx]s pQm jf8{sf cGo bfofF jfofF 

lkr ;8s;Fu hf]l8Psf hUufx?
3000000.

u= dfly -v_ ;Dd klg k/]sf afx]s pQm jf8{sf cGo bfofF afofF 
;8ssf hUufx?

2000000.
;8ssf hUufx?

3= dfly -u_ ;Dd klg g;d]l6Psf pQm jf8{sf leqL 
;8sjf6f]sf hUufx?

1000000.

ª=

dfly pNn]v ePsf afx]s O{6x/L af8{ g+= &-s_ sf  af6f] 
ghf]l8Psf  hUufx? 550000.

#÷@! O{6x/L jf8{ g+= &-v_

s= O{6x/L jf8{ g+= &-v_ sf bfofF jfofF lkr ;8s;Fu hf]l8Psf 
hUufx?

3200000.

v= dfly pNn]v ePsf jfx]s pQm jf8{sf cGo bfofF afofF ;8ssf 
hUufx?

1800000.
hUufx?

u= dfly -v_ ;Dd klg gk/]sf pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

900000.

3= dfly pNn]v ePsf afx]s O{6x/L jf8{ g+= &-v_ sf  af6f] 
ghf]l8Psf  hUufx?

450000.

#÷@@ O{6x/L jf8{ g+= &-u_

s= O{6x/L jf8{ g+= &-u_ sf lkr ;8s;Fu hf]l8Psf hUufx? 1500000.
v= dfly -s_ df k/]sf hUuf afx]s pQm jf8{sf bfofF jfofF ;8s;Fu 

hf]l8Psf hUufx?
1300000.

u= dfly k|s/0f -v_ df k/]sf afx]s pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

650000.

3= dfly -u_ ;Dd klg gk/]sf O{6x/L jf8{ g+= &-u_ sf  af6f] 
ghf]l8Psf hUufx?

300000.
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3=
ghf]l8Psf hUufx?

300000.

#÷@# O{6x/L jf8{ g+= &-3_, &-ª_

s= O{6x/L jf8{ g+= &-3_, &-ª_ sf lkr ;8s;Fu hf]l8Psf hUufx? 1500000.
v= dfly -s_ df k/]sf hUuf afx]s pQm jf8{sf bfofF jfofF ;8s;Fu 

hf]l8Psf hUufx?
1000000.

u= dfly pNn]v ePsf afx]s pQm jf8{sf leqL ;8sjf6f]sf hUufx? 550000.



3= dfly pNn]v ePsf afx]s O{6x/L jf8{ g+= &-3_, &-ª_  af6f] 
ghf]l8Psf  ;Dk"0f{ hUufx?

300000.

#÷@$ O{6x/L jf8{ g+= *-s_

s= O{6x/L jf8{ g+= *-s_ sf d"n lkr ;8s;Fu hf]l8Psf hUufx? 6500000.
v= dfly -s_ df k/]sf afx]s pQm jf8{sf bfofF jfofF lkr ;8ssf 

hUufx?
4500000.

u= dfly -v_ ;Dd klg gk/]sf pQm jf8{sf cGo bfofF afofF ;8ssf 
hUufx?

2500000.

3= dfly -u_ ;Dd k/]sf afx]s pQm af8{sf leqL ;8sjf6f]sf 
hUufx?

1200000.

ª dfly pNn]v ePsf afx]s O{6x/L af8{ g+= *-s_ sf  af6f] 600000.ª dfly pNn]v ePsf afx]s O{6x/L af8{ g+= *-s_ sf  af6f] 
ghf]l8Psf  hUufx?

600000.

#÷@% O{6x/L jf8{ g+= *-v_, *-u_

s= O{6x/L jf8{ g+= *-v_, *-u_ sf d"n ;8s tyf a;kfs{ leqsf 
;8s;Fu hf]l8Psf hUufx?

10000000.

v= dfly -s_ df k/]sf afx]s pQm jf8{sf a;kfs{ k|]j]z ug]{, 
lg:sg] tyf bfofF jfofF lkr ;8s;Fu hf]l8Psf hUufx?

7500000.

u= dfly -v_ ;Dd k/]sf jfx]s pQm jf8{sf cGo bfofF afofF ;8ssf 
hUufx?

4600000.

3= dfly -u_ ;Dd klg gk/]sf pQm af8{sf leqL ;8sjf6f]sf 
hUufx?

2300000.

ª=
dfly pNn]v ePsf afx]s O{6x/L af8{ g+= *-v_, *-u_  af6f] 
ghf]l8Psf  ;Dk"0f{ hUufx?

1200000.

ghf]l8Psf  ;Dk"0f{ hUufx?

#÷@^ O{6x/L jf8{ g+= ( -;a} Ans_

s= O{6x/L jf8{ g+= ( sf lkr ;8s ;Fu hf]l8Psf hUufx? 1400000.
v= dfly -s_ df k/]sf afx]s pQm jf8{sf bfofF jfofF ;8s;Fu 

hf]l8Psf hUufx?
1000000.

u= dfly -v_ ;Dd k/]sf afx]s pQm jf8{sf leqL ;8sjf6f]sf 
hUufx?

400000.

3= dfly pNn]v ePsf afx]s O{6x/L af8{ g+= ( sf  af6f] ghf]l8Psf 
hUufx?

200000.

vgf/
s vgf/ jf8{ g+= @,#,$,%,^ sf /fhdfu{;Fu hf]l8Psf hUufx? 4000000.s vgf/ jf8{ g+= @,#,$,%,^ sf /fhdfu{;Fu hf]l8Psf hUufx? 4000000.
v dfly -s_ df k/]sf afx]s vgf/ uf=lj=;=sf cGo lkr ;8s;Fu 

hf]l8Psf hUufx?
2000000.

u dfly -v_ ;Dd klg gk/]sf bfofF jfofF ;8s;Fu hf]l8Psf hUufx? 10000000
3 vgf/ uf=lj=;= sf j8f g+= !,&,* / ( j8fsf cGo lkr ;8ssf 

hUufx?
1000000.

ª vgf/ uf=lj=;= sf j8f g+= !,&,* / ( j8fsf bfofF jfofF ;8s;Fu 
hf]l8Psf hUufx?

750000.

r dfly -3_ ;Dd klg gk/]sf vgf/ uf=lj=;=sf ;j} jf8{ Jnssf 
leqL ;8sjf6f]sf hUufx?

400000.

5 dfly pNn]v ePsf afx]s vgf/ uf=lj=;= sf  af6f] ghf]l8Psf 
hUufx?

200000.
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#  xf;kf];f uf=lj=;=
#÷! xf;kf];f uf=lj=;= j8f g+= !-s_

s= d'n ;8s tyf klSs ;Fu hf]l8Psf hUufx? 4500000
v= pQm jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 2600000
u= pQm j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 2200000u= pQm j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 2200000
3= leqL af6f];+u hf]l8Psf hUufx? 1100000
ª= pQm jf8{sf jfls ;Dk"0f{ hUufx? 500000

#÷@ xf;kf];f j8f g+= !-v_

s= d'n ;8s tyf klSs ;8s;Fu hf]l8Psf hUufx? 4500000
v= pQm jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 2600000
u= pQm j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 2200000
3= j8fsf leqL af6f];+u hf]l8Psf hUufx? 1100000
ª= pQm jf8{sf jfls ;Dk"0f{ hUufx?\ 500000500000

#÷# xf;kf];f j8f g+= @-s_

s= d'n ;8s tyf klSs ;8s;Fu hf]l8Psf hUufx? 5000000
v= pQm jf8{sf zfvf klSs ;8s;+Fu hf]l8Psf hUufx? 3100000
u= pQm j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 2500000
3= j8fsf leqL af6f];+u hf]l8Psf hUufx? 1400000
ª= pQm jf8{sf jfls ;Dk"0f{ hUufx? 600000

#÷$ xf;kf];f j8f g+= @-v_

s= d'n ;8s tyf klSs ;8s;Fu hf]l8Psf hUufx? 2400000
v= pQm jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 2200000v= pQm jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 2200000
u= pQm j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 2000000
3= j8fsf leqL af6f];+u hf]l8Psf hUufx? 1000000
ª= pQm jf8{sf jfls ;Dk"0f{ hUufx? 500000

#÷% xf;kf];f uf=lj=;= @-u_

s= d'n ;8s tyf klSs ;8s;Fu hf]l8Psf hUufx? 5000000
v= pQm jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 3100000
u= pQm j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 2500000
3= j8fsf leqL af6f];+u hf]l8Psf hUufx? 1400000
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1400000
ª= pQm jf8{sf jfls ;Dk"0f{ hUufx? 600000

#÷^ xf;kf];f j8f g+= # -;a} Ans_

s= d'n ;8s tyf klSs ;8s;Fu hf]l8Psf hUufx? 1700000
v= pQm j8fsf dfly pNn]v ePsf jfx]s lelq klSs ;8s 1500000



;fy} bfof jfof ;8s;+u hf]l8Psf hUufx?
u= j8fsf leqL af6f];+u hf]l8Psf hUufx? 700000
3= pQm jf8{sf jfls ;Dk"0f{ hUufx? 400000

#÷& xf;kf];f j8f g+= $ -;a} Ans_

s= d'n  ;8s tyf klSs;Fu hf]l8Psf hUufx? 1800000
pQm j8fsf dfly pNn]v ePsf jfx]s lelq zfvf lkr 
;8s;Fu hf]l8Psf hUufx?

1600000

v= pQm j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 15000001500000
u= j8fsf leqL af6f];+u hf]l8Psf hUufx? 700000
3= pQm jf8{sf jfls ;Dk"0f{ hUufx? 400000

#÷* xf;kf];f j8f g+= %

s= d'n tyf klSs ;8s;+u hf]l8Psf hUufx? 1300000
zfvf klSs ;8s;+u hf]l8Psf hUufx? 1200000

v= bfof jfof ;8s;Fu hf]l8Psf hUufx? 1000000
u= j8fsf leqL af6f];+u hf]l8Psf hUufx? 500000
3= dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 

;Dk"0f{ hUufx?
250000

;Dk"0f{ hUufx?
#÷( xf;kf];f j8f g+= ̂

d'n tyf klSs ;8s;+u hf]l8Psf hUufx? 1400000
zfvf klSs ;8s;+u hf]l8Psf hUufx? 1200000
bfof jfof ;8s;Fu hf]l8Psf hUufx? 1000000
j8fsf leqL af6f];+u hf]l8Psf hUufx? 500000
dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 
;Dk"0f{ hUufx?

250000

#÷( xf;kf];f j8f g+= &

d'n tyf klSs ;8s;+u hf]l8Psf hUufx? 12000001200000
bfof jfof ;8s;Fu hf]l8Psf hUufx? 1000000
j8fsf leqL af6f];+u hf]l8Psf hUufx? 400000
dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 
;Dk"0f{ hUufx?

250000

#÷( xf;kf];f j8f g+= * -;a} Ans_

s= d'n ;8s tyf /fhdfu{;Fu hf]l8Psf hUufx? 3200000
v= zfvf klSs ;8s;Fu hf]l8Psf hUufx? 2200000
u= bfof jfof ;8s;+u hf]l8Psf hUufx? 1700000
3= j8fsf leqL af6f];+u hf]l8Psf hUufx? 700000
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700000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 

;Dk"0f{ hUufx?
400000

#÷!) xf;kf];f j8f g+= ( -;a} Ans_

s= d'n tyf klSs ;8s;+u hf]l8Psf hUufx? 1200000
v= zfvf klSs ;8s;Fu hf]l8Psf hUufx? 1000000



$= PsDjf
s= k'j{ klZrd dx]Gb| /fhdfu{ ;8s;+u hf]l8Psf hUufx? 2850000

v= j8f g++ $, * / ( sf d'n ;8s tyf d'n kSsL jf6f];+u 1800000

u= bfof jfof ;8s;+u hf]l8Psf hUufx? 900000
3= j8fsf leqL af6f];+u hf]l8Psf hUufx? 400000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 

;Dk"0f{ hUufx?
  250000

hf]l8Psf hUufx?
1800000

u= j8f g++ $, * / ( sf zfvf kSsL jf6f];+u hf]l8Psf 
hUufx?

1300000

3= j8f g++ !, @, #, %, ^, & sf d'n  kSsL ;8s;u hf]l8Psf 
hUufx?

1000000

ª= j8f g++ !, @, #, %, ^, & sf zfvf  kSsL ;8s;u hf]l8Psf 
hUufx?

900000

r j8f g++ !, @, #, %, ^, & sf bfof jfof ;8s;u hf]l8Psf 
hUufx?

700000

5 j8f g+= $, *, ( sf bfofjfof ;8s ;u hf]l8Psf hUufx? 1300000
h PsDjfsf ;Dk"0f{ j8fsf leqL ;8s;u hf]l8Psf hUufx? 500000h PsDjfsf ;Dk"0f{ j8fsf leqL ;8s;u hf]l8Psf hUufx? 500000
em cGo ;Dk"0f{ jf6fn] g5'g] hUufx? 200000

%= ksnL
s= k'j{ klZrd /fhdfu{ ;8s;+Uf hf]l8Psf hUufx? 3200000
v= k|s/0f s df k/]sf jfx ]s ;f]xL j8fsf lelq lkr ;8s;+u 

hf]l8Psf hUufx?
1850000

u= ;j} jf8Jnssf bfof jfof ;8s;+u hf]l8Psf hUufx? 1500000
3 ;a} jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 800000
ª= dfly k|s/0f df k/]sf jfx]s ! b]lv ( jf8{ Ans ;Ddsf 

;Dk'0f{ jf6f]n] g5f]Psf hUufx?
200000

;Dk'0f{ jf6f]n] g5f]Psf hUufx?
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@= Og?jf gu/kflnsf
            != Og?jf

gof gfkLsf hUuf >]:tf sfof{Gjog kZrft

cf=j=077÷07
8 sf nflu

Go"gtd d"Nofs+g
k|lt s&\&f

s= j8f g+= ! / @ sf d'n ;8s tyf kSsL ;8s;Fu 
hf]l8Psf hUufx?

3700000

v= ;f] b'j} jf8sf lelq klSs ;8s;Fu hf]l8Psf hUUffx? 2500000v= ;f] b'j} jf8sf lelq klSs ;8s;Fu hf]l8Psf hUUffx? 2500000
u= k|s/0f s / v df k/]sf afx]s ;f] jf8{x?sf bfof jfof 

;8s;Fu hf]l8Psf hUufx?
1600000

3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 900000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s cGo af6f] 

gePsf] ;Dk"0f{ hUufx?
400000

O{g?jf g=kf= j8f g+= !-s_
s= d'n  ;8s tyf kSsL ;8s;Fu hf]l8Psf hUufx? 3700000
v= k|s/0f -s_ df k/]sf hUuf afx]s cGo klSs ;8s;Fu 

hf]l8Psf hUufx?
2500000

u= pQm j8fsf bfofF jfofF ;8s;Fu hf]l8Psf hUufx? 1600000u= pQm j8fsf bfofF jfofF ;8s;Fu hf]l8Psf hUufx? 1600000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 900000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s cGo ;Dk"0f{ 

hUufx?
400000

O{g?jf g=kf= j8f g+= !-v_
s= d'n tyf klSs ;8s;Fu hf]l8Psf hUufx? 1700000
v= ;f] jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 1200000
u= ;f] jf8{sf bfof jfof ;8s;Fu hf]l8Psf hUUffx? 900000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 500000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s cGo ;Dk"0f{ 

hUufx?
200000

O{g?jf g=kf= j8f g+= @O{g?jf g=kf= j8f g+= @
s= d'n tyf lkr ;8s;Fu hf]l8Psf hUufx? 2600000
v= ;f] jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 2000000
u= ;f] jf8{sf bfof jfof ;8s;+u hf]l8PsfhUufx? 1400000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 1000000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf 

;Dk"0f{ hUufx?
300000

O{g?jf g=kf= #-s_
s= /fhdfu{ tyf d'n lkr ;8s;Fu hf]l8Psf hUufx? 2200000
v= k|s/0f -s_ df k/]sf afx]s ;f] jf8sf cGo lkr 

;8s;Fu hf]l8Psf hUufx?
1300000
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;8s;Fu hf]l8Psf hUufx?
u= pQm j8fsf cGo bfof jfof ;8ssf hUufx? 1100000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 700000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 

;Dk"0f{ hUufx?
300000

O{g?jf g=kf= #-v_



s= lkr ;8s tyf d'n ;8s;Fu hf]l8Psf hUufx? 1000000
v= ;f] jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 800000
u= ;f] jf8{sf bfof jfof ;8s;Fu hf]l8Psf hUufx? 600000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 500000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 

;Dk"0f{ hUufx?
200000

O{g?jf g=kf= #-u_
s= dx]Gb| /fhdfu{, d'n;8s tyf lkr ;8s;Fu hf]l8Psf 

hUufx?
1800000

hUufx?
v= k|s/0f -s_ df k/]sf afx]s ;f] j8fsf cGo klSs 

;8s;+u hf]l8Psf hUufx?
1400000

u= pQm j8fsf bfof jfof ;8s;Fu hf]l8Psf hUufx? 1100000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 700000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 

;Dk"0f{ hUufx?
300000

O{g?jf g=kf= $
s= d'n lkr tyf d'n ;8s ;u hf]l8Psf hUufx? 650000
v= ;f] jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 575000
u= ;f] j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 500000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 3000003= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 300000
ª= dfly pNn]lvt k|s/0fdf k/]sf afx]s pQm jf8{sf cGo 

;Dk"0f{ hUufx?
200000

O{g?jf g=kf= %-s_
s= Osf lkr ;8s tyf d'n ;8s;Fu hf]l8Psf hUufx? 1800000
v= dfly k|s/0fdf k/]sf afx]s leqL klSs ;8s;Fu 

hf]l8Psf hUufx?
1400000

u= pQm j8fsf bfof jfof ;8;;+u hf]l8Psf hUufx? 1100000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 700000
ª= pQm jf8{sf jfls ;Dk"0f{ af6f]n] g5f]Psf] hUufx? 300000

O{g?jf g=kf= j8f g+= %-v_O{g?jf g=kf= j8f g+= %-v_
s= d'n ;8s tyf lkr ;8s;Fu hf]l8Psf hUufx? 900000
v= ;f] jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 750000
u= pQm j8fsf bfof jfof ;8s;Fu hf]l8Psf hUufx? 600000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 300000
ª= pQm jf8{sf jfls ;Dk"0f{ hUufx? 200000

O{g?jf g=kf= j8f g+= ^-s_
s= d'n ;8s tyf kSsL ;8s;Fu hf]l8Psf hUufx? 1000000
v= ;f] jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 850000
u= ;f] jf8{sf bfof jfof ;8s;Fu hf]l8Psf hUufx? 700000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 400000
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3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 400000
ª= pQm jf8{sf jfls ;Dk"0f{ af6f]n] g5f]Psf] hUufx? 200000

O{g?jf j8f g+= ^-v_.^-u_
s= d'n ;8s tyf kSsL ;8s;Fu hf]l8Psf hUufx? 2000000
v= dfly k|s/0f -s_ df k/]sf hUuf afx]s ;f] jf8{sf cGo 

klSs ;8s;Fu hf]l8Psf hUufx?
1500000



u= pQm jf8sf bfof jfof ;8s;Fu hf]l8Psf hUufx? 1100000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 700000
ª= pQm jf8{sf jfls ;Dk"0f{ af6f]n] g5f]Psf] hUufx? 200000

O{g?jf & -s_ / &-v_ 
s= d'n ;8s tyf kSsL ;8s;Fu hf]l8Psf hUufx? 1800000
v= k|s/0f -s_ jf8]s ;f] jf8sf cGo klSs ;8s;Fu 

hf]l8Psf hUufx?
1400000

u= pQm jf8{sf bfof jfof ;8s;Fu hf]l8Psf hUufx? 1100000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 7000003= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 700000
ª= pQm jf8{sf jfls ;Dk"0f{ af6f]n] g5f]Psf] hUufx? 200000

O{g?jf g=kf= j8f g+= *-s_ / *-v_
s= d'n tyf kSsL ;8s;Fu hf]l8Psf hUufx? 1300000
v= ;f] jf8{sf zfvf klSs ;8s;+u hf]l8Psf hUufx? 1000000
u= pQm j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 800000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 500000
ª= pQm jf8{sf jfls ;Dk"0f{ af6f]n] g5f]Psf] hUufx? 200000

O{g?jf j8f g+= (-s_ / (-v_
s= sf d'n ;8s tyf kSsL ;8s;Fu hf]l8Psf hUufx? 1800000
v= ;f] j8fsf cGo klSs ;8s;+u hf]l8Psf hUufx? 1500000v= ;f] j8fsf cGo klSs ;8s;+u hf]l8Psf hUufx? 1500000
u= ;f] jf8{sf bfofF jfofF ;8s;Fu hf]l8Psf hUufx? 1200000
3= pQm jf8{ Jnssf leqL af6f];+u hf]l8Psf hUufx? 700000
ª= pQm jf8{sf jfls ;Dk"0f{ af6f]n] g5f]Psf] hUufx? 350000

@= rfFbj]nf
s= j8f g+= &, *, ( sf d'n ;8s;+u hf]l8Psf hUufx? 600000
v= j8f g+= &, *, ( sf Zffvf lkr ;8s;Fu hf]l8Psf hUufx? 500000
u= j8f g+= ! b]lv ^ ;Ddsf d'n tyf kSsL ;8s;Fu  

hf]l8Psf hUufx? 450000

3= j8f g+= ! b]lv ^ ;Ddsf zfvf kSsL ;8s;Fu  hf]l8Psf 
hUufx? 375000hUufx? 375000

ª= k|s/0f s / v df k/]sf jfx]s ;f]xL j8fsf bfof jfof jf6f] 
;+u hf]l8Psf hUufx? 400000

r j8f g+= &, *, ( sf leqL jf6f];Fu hf]l8Psf hUufx? / 
j8f g+= ! b]lv ^ ;Ddsf bfof jfof  jf6f];+u hf]l8Psf 
hUufx?

300000

5 j8f g+= ! b]lv ^ ;Ddsf leqL jf6f];+u hf]l8Psf hUufx? 200000
h Aff6f] gePsf ;Dk'0f{ hUufx? 80000

# dw]zf
s= dw]zf j8f g+= * / ( xfn O{g?jf g=kf= df kg]{ d'n 

;8s tyf klSs;Fu hf]l8Psf hUufx?
1700000

v= k|s/0f -s_ df k/]sf hUuf jfx]s ;f] j8fsf leqL klSs 1200000
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v= k|s/0f -s_ df k/]sf hUuf jfx]s ;f] j8fsf leqL klSs 
;8s;Fu hf]l8Psf hUufx?

1200000

u= k|s/0f s / v df k/]sf hUuf jfx]s bfof jfof ;8s;Fu 
hf]l8Psf hUufx? 900000

3= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 500000
ª= k|s/0f 3 df ;Dd k/]sf hUuf jfx]s af6f] gePsf 

hUufx? 200000



r= dw]zf j8f g+= !,@,#,$, %,^,/& sf /fhdfu{ / klSs 
;8s;+u hf]l8Psf hUufx? 800000

5= j8f g+= !,@,#,$, %,^,/& sf zfvf kSsL ;8s;Fu  
hf]l8Psf hUufx?

650000

h= dw]zf j8f g+= !,@,#,$, %,^,/& sf bfof jfof ;8s ;Fu 
hf]l8Psf hUufx? 500000

em= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 200000
~f dflysf k|s/0fx?df k/]sf hUuf jfx]s cGo jfls ;Dk"0f{ 

hUufx?
100000

$=hNkfk'/
s= hNkfk'/ uf=lj=;= sf d"n ;8s;Fu hf]l8Psf 

38]/Lsf hUufx?
400000.

v= hNkfk'/ uf=lj=;= sf cGo leqL kSsL af6fsf 
hUufx?

300000.

u= dfly -s_ df k/]sf afx]s pQm uf=lj=;= sf bfofF 
jfofF ;8s;Fu hf]l8Psf hUufx?

200000.
jfofF ;8s;Fu hf]l8Psf hUufx?

3= dfly -v_ df klg gk/]sf pQm uf=lj=;= sf leqL 
;8sjf6f]sf hUufx?

100000.

ª dfly pNn]v ePsf afx]s hNkfk'/ uf=lj=;= sf afFsL 
;Dk"0f{ hUufx?

60000.

% 8'd|fxf
s

=
8'd|fxf uf=lj=;= jf8+ g+= ^ sf /fhdfu{;Fu hf]l8Psf 
hUufx?

800000.

v
=

8'd|fxf uf=lj=;= sf cGo leqL kSsL ;8sx?
600000.

u 400000.u
= 8'd|fxf uf=lj=;= jf8{ g+= @,%,^,& sf bfofF jfofF ;8s 

;uF hf]l8Psf 38]/Lsf hUufx?

400000.

3
=

dfly k/]sf afx]s pQm uf=lj=;= sf jf8{ g+= 
!,#,$,*,( sf bfofF jfofF ;8s;Fu hf]l8Psf hUufx?

300000.

ª
=

dfly -u_ ;Dd klg gk/]sf 8'd|fxf uf=lj=;= sf ;j} 
af8{ Jnssf leqL ;8sjf6f]sf hUufx?

200000.

r
dfly pNn]v ePsf afx]s 8'd|fxf uf==lj=;= sf 

;8sn] g5f]Psf hUufx?

80000.
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=  ^=aljof
s= aljof uf=lj=;= sf ahf/, xl6of Pl/ofsf ;8s tyf 

lkr ;8s;Fu hf]l8Psf hUufx?
800000.

aljof uf=lj=;= sf cGo kSsL ;8ssf hUufx? 600000.



#=b'xjL gu/kfnLsf

v= dfly -s_ ;Dd k/]sf afx]s aljof uf=lj=;= sf bfofF 
jfofF ;8s;Fu hf]l8Psf hUufx?

400000.

u= dfly -v_ ;Dd klg g;d]l6Psf pQm uf=lj=;= sf 
leqL ;8sjf6f]sf hUufx?

200000.

3= dfly pNn]v ePsf afx]s aljof uf==lj=;= sf 
;8sn] g5f]Psf hUufx?

70000.

#=b'xjL gu/kfnLsf
uf=lj=;=÷ ljj/0f cf=j=077÷078 sf nflu

Go"gtd d"Nofs+g k|lt 
s&\&f

!= en'jf
s= b'xjL Og?jf, d'n ;8s tyf lkr ;8s;Fu hf]l8Psf 

hUufx?
1000000

v= j8f g+= ^,&,*,( sf lelq lkr ;8s;+u hf]l8Psf hUufx? 700000
u= j8f g+= ! b]vL % ;Ddsf leqL lkr ;8s ;+u hf]l8Psf 

hUufx?
550000

3= ;Dk"0f{ j8fsf bfof jfof ;8s ;u hf]l8Psf hUufx? 225000
ª ;a} j8fsf leqL af6f];+u hf]l8Psf hUufx? 200000ª ;a} j8fsf leqL af6f];+u hf]l8Psf hUufx? 200000
r pQm uf=lj=;= sf cGo ;Dk"0f{ hUufx? 100000

@= ;f]gfk'/

s
sf]zL /fhdfu{ tyf d'n kSsL tyf d'n lkr ;8s;Fu 
hf]l8Psf hUufx? 2400000

v zfvf lkr ;8sdf hf]l8Psf hUufx? 1500000
u ;a} j8fsf bfof jfof ;8s;Fu hf]l8Psf hUufx? 900000
3 ;a} j8fsf leqL af6f];+u hf]l8Psf hUufx? 450000
ª ;f]gfk'/ uf=lj=;=sf afFsL ;Dk"0f{ hUufx? 150000

# b'xaL
s= b'xaL uf=lj=;= j8f g+= ! sf] kSsL ;8s ;Fu hf]l8Psf 

hUufx? 700000

s zfvf lkr ;8sdf hf]l8Psf hUufx? 550000
v= b'xaL uf=lj=;= j8f g+= ! sf bfof jfof ;8s;Fu hf]l8Psf 

hUufx? 350000

u= dfly s df k/]sf jfx]s pQm jf8{sf leqL ;8s;+u hf]l8Psf 
hUufx? 250000

3= b'xlj @,#,$,% sf w/fg lj/f6gu/ tyf d'n ;8s;Fu hf]l8Psf 
hUufx?

2000000

ª k|s/0f -3_ df k/]sf] afx]s pQm jf8{sf lelq efusf lkr 1500000
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ª k|s/0f -3_ df k/]sf] afx]s pQm jf8{sf lelq efusf lkr 
;8s;Fu hf]l8Psf hUufx? 1500000

r= dfly ª df klg g;d]l6Psf pQm jf8{sf bfof jfof ;8s;+u 
hf]l8Psf hUufx? 1000000

5= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 400000
h= b'xlj uf=lj=; jf8{ g+= ^, &, * /fhdfu{ d'n ;8s;+u hf]l8Psf 2200000



hUufx?
em= dfly h df pNn]v ePsf jfx]s pQm jf8{sf lelq efusf lkr 

;8ssf hUufx?
1500000

`= dfly -em_ df pNN]v ePsf jfx]s pQm jf8{sf bfof jfof 
;8s;+u hf]l8Psf hUufx?

850000

6= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 400000
7= b'xlj j8f g+= ( sf /fhdfu{;+u hf]l8Psf hUufx? 1700000
8= k|s/0f -7_ df k/]sf afx]s pQm jf8{ leqL klSs -lkr_ 

;8s;Fu hf]l8Psf hUufx?
900000

9= dfly k|s/0f -8_ df k/]sf jfx]s pQm jf8{sf bfof jfof 9= dfly k|s/0f -8_ df k/]sf jfx]s pQm jf8{sf bfof jfof 
;8s;+u hf]l8Psf hUufx?

700000

0f= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 400000
t= dfly pNn]lvt ePsf jfx]s b'xlj uf=lj=;=sf jfFls ;Dk'0f{ 

hUufx?
200000

$= l;dl/of
s= l;dl/of uf=lj=;= sf d'n ;8s tyf lkr ;8s ;Fu hf]l8Psf 

hUufx?
1200000

v= zfvf lkr ;8sdf hf]l8Psf hUufx? 900000
u= dfly -s_ df k/]sf d'n ;8ssf hUuf jfx]s bfof jfof 

;8s;Fu hf]l8Psf hUufx?
600000

;8s;Fu hf]l8Psf hUufx?
3= ;j} j8fsf leqL af6f];+u hf]l8Psf hUufx? 400000
ª dfly k|s/0fx?df  k/]sf hUuf jfx]s ;f] uf=lj=;= sf ;Dk'0f{ 

hUufx?
100000

%=tgd'gf
s= tgd'gf uf=lj=;= sf lkr ;8s ;Fu hf]l8Psf hUufx? 500000.
v= tgd'gf uf=lj=;= sf bfofF jfofF ;8s ;Fu hf]l8Psf hUufx? 400000.
u dfly -s_ df k/]sf afx]s pQm uf=lj=;= sf leqL ;8sjf6f]sf 

hUufx?
200000.

3 dfly pNn]v ePsf jfx]s tgd'gf uf=lj=;= sf ;8sn] hUufx? 70000.

^=k'j{ s'zfxf^=k'j{ s'zfxf
s= k'j{ s'zfvf uf=lj=;= sf lkr ;8s ;Fu hf]l8Psf hUufx? 700000.
v= k"j{ s'zfxf uf=lj=;=sf rf]s Pl/of ;fy} d"n ;8s;Fu hf]l8Psf / 

leqL kSsL ;8ssf hUufx?
500000.

u= pQm uf=lj=;= sf cGo bfofF jfofF ;8s ;Fu hf]l8Psf 38]/Lsf 
hUufx?

300000.

3= dfly -v_ df ;d]t g;d]l6Psf pQm uf=lj=;=sf leqL ;8sjf6f]sf 
hUufx?

200000.

ª dfly pNn]v ePsf afx]s k'j{ s'zfxf uf=lj=;= sf ;8sn] g5f]Psf
hUufx?

70000.
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$= /fdw'gL gu/kflnsf
uf=lj=;=÷ ljj/0f cf=j=077÷078

sf nflu k|:tfljt
Go"gtd d"Nofs+g
k|lt s&\&f

!= cf= aSnf}/L
s= ksln rt/f ;8s tyf d'n ;8s;+u hf]l8Psf hUUffx? 2000000s= ksln rt/f ;8s tyf d'n ;8s;+u hf]l8Psf hUUffx? 2000000
v= zfvf lkr ;8s;+u hf]l8Psf hUufx? 1200000
u= ;a} j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 900000
3= ;a} j8fsf leqL af6f];+u hf]l8Psf hUufx? 450000
ª= jf6f]n] g5'g] hUufx? 200000

              

@  efbufpF l;g'jf/L
s= efbufpF l;g'jf/L j8f g+= @ sf /fhdfu{ tyf d'n ;8s;Fu 

hf]l8Psf hUufx?
3500000

v= efbufpF l;g'jf/L j8f g+= #, $, / % -s_ sf /fhdfu{;Fu hf]l8Psf 
d'n ;8s;Fu hf]l8Psf hUufx?

2200000
d'n ;8s;Fu hf]l8Psf hUufx?

2200000

u= k|s/0f s / v df k/]sf jf8{x?sf cGo klSs ;8s;Fu hf]l8Psf 
hUufx?

1800000

3= k|s/0f s, v, / u df k/]sf jf8x?sf bfof jfof ;8s;+u 
hf]l8Psf hUufx?

1300000

ª= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 650000
r= ;f] jf8sf jfls ;Dk'0f{ hUufx? 200000
5= ef=l;= %v d'n ;8s tyf rt/f hfg]] j;kfs{ ;d]tsf hUuf tyf 

cGo klSs ;8s / pQm j;kfs{ Pl/ofsf kSsL ;8snfO{ 5'g] 
hUufx?

2500000

5 ef=l;= %v zfvf lkr ;8s;+u hf]l8Psf hUufx? 2000000
h= pQm %v sf bfof jfof ;8s;+u hf]l8Psf hUufx? 1400000h= pQm %v sf bfof jfof ;8s;+u hf]l8Psf hUufx? 1400000
em= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 700000
`= pQm %v jf8{x?sf jfFls hUufx? 200000
6= ef=l;= j8f g+= ^s sf d'n ;8s tyf kSsL ;8s;+u hf]l8Psf 

hUufx?
1600000

7= pQm ^s j8fx?sf leqL klSs ;8s;+u hf]l8Psf hUufx? 1200000
8= ;f] ^s jf8sf bfof jfof ;8s;+u hf]l8Psf hUufx? 1000000
9= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 550000
0f= ;f] jf8sf jfls ;Dk'0f{ hUufx? 200000
t= j8f g+= % / ^ sf cGo Jnssf /fhdfu{;+u hf]l8Psf hUufx? 1500000
t j8f g+= % / ^ sf cGo Jnssf leqL klSs ;8s;+u hf]l8Psf 
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t j8f g+= % / ^ sf cGo Jnssf leqL klSs ;8s;+u hf]l8Psf 
hUufx?

1300000

y= j8f g+= % / ^ sf cGo Jnssf bfof jfof ;8s;+u hf]l8Psf 
hUufx?

1000000

b pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 500000
=w j8f g+= !,&,*,( sf klSs ;8s ;Fu hf]l8Psf hUufx? 900000



       
                    

          

j8f g+= !,&,*,( sf zfvf klSs ;8s ;Fu hf]l8Psf hUufx? 800000
g j8f g+=!,&,*,( sf bfof jfof ;8s ;Fu hf]l8Psf hUufx? 700000
k= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 350000
km= dfly k|s/0f s b]lv k ;Dd k/]sf jf8 Jnssf hUuf jfx]s pQm 

ef=l;= uf=lj=;= sf cGo jfls ;Dk'0{f hUufx?
200000

# l;+luof
s= l;+luof j8f g+= !-s_ / !-v_ sf d'n ;8s, klSs ;8s tyf 2500000

     
s= l;+luof j8f g+= !-s_ / !-v_ sf d'n ;8s, klSs ;8s tyf 

/fhdfu{;Fu hf]l8Psf hUufx?
2500000

s pQm j8f Anssf zfvf klSs ;8s ;Fu hf]l8Psf hUufx? 1900000
v= k|s/0f -s_ df k/]sf hUuf afx]s ;f] j8fsf bfof jfof ;8s;Fu 

hf]l8Psf hUufx?
1300000

u= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 650000
3= dfly k|s/0fdf gk/]sf jf6f] gePsf hUufx? 250000
ª= j8f g+= @, #, $, %, ^, &, *, / ( sf]] d'n ;8s tyf kSsL 

;8s;Fu hf]l8Psf hUufx?
800000

r= j8f g+= @, #, $, %, ^, &, *, / ( sf]] zfvf leqL kSsL ;8s;Fu 
hf]l8Psf hUufx?

700000

5= k|s/0f 3 df k/]sf hUuf jfx]s ;f] j8fsf bfof jfof ;8ssf 600000

               

5= k|s/0f 3 df k/]sf hUuf jfx]s ;f] j8fsf bfof jfof ;8ssf 
hUufx?

600000

h= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 300000
em dfly pNn]lvt k|s/0f ª ;Dd k/]sf hUuf jfx]s ;f] uf=lj=;= sf 

;Dk'0f{ hUufx? 
200000
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%=j/fx gu/kfnLsf
uf=lj=;=÷ ljj/0f cf=j=077÷078

sf nflu Go"gtd 
d"Nofs+g k|lt 
s&\&f

!= e/f}n
s= ksln rt/f ;8s, d'n ;8s tyf kSsL ;8s;Fu hf]l8Psf 

hUufx?
2500000

v= 1700000v= leqL kSsL ;8s;Fu hf]l8Psf hUufx? 1700000
u= e/f}n uf=lj=;= sf bfofjfof ;8sn] 5'g] hUufx? 1100000
3= ;a} j8fsf leqL af6f];+u hf]l8Psf hUufx? 500000
ª= pQm uf=lj=; sf cGo af6f]n] g5f]Psf ;Dk'0f{ hUufx? 250000

@ dx]Gb|gu/
s= j8f g+= !, @, #, $, ( sf] d'n ;8s tyf lkr ;8s;Fu 

hf]l8Psf hUufx?
20,00,000

v= j8f g+= !, @, #, $, ( sf] zfvf kSsL ;8s;Fu hf]l8Psf 1500000v= j8f g+= !, @, #, $, ( sf] zfvf kSsL ;8s;Fu hf]l8Psf 
hUufx?

1500000

u= k|s/0f -s_ df k/]sf afx]s pQm jf8{ Anssf bfofF jfofF  
;8s;Fu hf]l8Psf hUufx?

1200000

3= k|s/0f s,v df k/]sf jfx]s ;f]lx jf8{ Jnssf leqL ;8s;+u 
hf]l8Psf hUufx?

600000

ª= j8f g+= %,^ &, * sf] d'n tyf kSsL jf6f]n] 5f]Psf hUufx? 900000
r j8f g+= %,^ &, * sf] zfvf kSsL jf6f]n] 5f]Psf hUufx? 800000
5 j8f g+= %,^ &, * sf] bfofjfof jf6f]n] 5f]Psf hUufx? 700000
h k|s/0f 3 df k/]sf] jfx]s ;f]lx j8fsf lelq ;8s;+u 

hf]l8Psf hUufx?
350000

em j8f g+= ! b]lv ( ;Ddsf] jf6f]n] g5f]Psf hUufx? 200000em j8f g+= ! b]lv ( ;Ddsf] jf6f]n] g5f]Psf hUufx? 200000

# dw'jg
s=

dw'jg j8f g+= # / % sf ahf/ Pl/ofsf ;8s tyf cGo 
j8fx?sf] klSs ;8s;Fu hf]l8Psf hUufx? 

500000

v=
k|s/0f -s_ df k/]sf hUuf afx]s ;f] uf=lj=;= sf bfof jfof 
;8s;u hf]l8Psf 38]/L hUufx?

300000

u= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 200000
3= dfly pNn]v ePsf afx]s ;f] uf=lj=;= sf ;Dk"0f{ hUufx? 60000
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^=jh{' ufpkflnsf
uf=lj=;=÷ ljj/0f cf=j=077÷078

sf nflu Go"gtd 
d"Nofs+g k|lt 
s&\&f

!= cdflxj]nfxf
s= d'n;8s tyf kSsL ;8s;+u hf]l8Psf hUufx? 800000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 650000
u= ;a} j8f bfof jfof ;8sn] 5'g] hUufx? 500000u= ;a} j8f bfof jfof ;8sn] 5'g] hUufx? 500000
3= ;a} j8fsf leqL af6f];+u hf]l8Psf hUufx? 200000
ª= k|s/0f u ;Dd gk/]sf jf6f]n] g5'g] ;Dk'0f{ hUufx? 100000

            
                

@=cd8'jf
s

=
cd8'jf uf=lj=;= sf lkr ;8ssf hUufx?

500000.

v
=

cd8'jf uf=lj=;= sf bfofF jfof ;8s;Fu hf]l8Psf hUufx?
300000.

u
=

pQm uf=lj=;= sf leqL ;8s ;Fu hf]l8Psf hUufx? 
150000.

3

dfly pNn]v ePsf afx]s cd8'jf uf=lj=;= sf ;8sn] g5f]Psf
hUufx?

60000.

#=lrd8L
s

=
lrd8L uf=lj=;= sf ahf/ Pl/ofsf ;fy} d"n ;8s;Fu hf]l8Psf 
hUufx?

800000.

lrd8L uf=lj=;=sf cGo kSsL af6f]sf hUufx?
600000.600000.

v
=

dfly pNn]v ePsf afx]s pQm uf=lj=;= sf bfofF jfofF ;8s;Fu 
hf]l8Psf hUufx?

300000.

u
=

dfly -v_ ;Dd klg gk/]sf pQm uf=lj=;= sf leqL ;8sjf6f]sf 
hUufx?

160000.

3
=

dfly -u_ ;Dd klg g;d]l6Psf lrd8L uf=lj=;= sf ;8sn] 
g5f]Psf hUufx?

70000.

s
=

/fdu~h a]nul5of uf=lj=;= sf d'n ;8s;Fu hf]l8Psf hUufx? 500000.

v
=

pQm uf=lj=;= sf leqL bfof jfof ;8s;Fu hf]l8Psf hUufx? 250000.

u pQm uf=lj=;= sf leqL ;8sjf6f]sf hUufx? 150000.
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u pQm uf=lj=;= sf leqL ;8sjf6f]sf hUufx? 150000.
3 pQm uf=lj=;=sf ;8sn] g5f]Psf hUufx? 70000.



&= ef]qmfxf ufpkflnsf
uf=lj=;=÷ ljj/0f cf=j=077÷078

sf nflu Go"gtd 
d"Nofs+g k|lt s&\&f

!= g/l;+x 6Kk'
s= d'n tyf kSsL ;8s;+u hf]l8Psf hUufx? 250000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 225000
u= s / v afx]s cGo af6f];+u hf]l8Psf hUufx? 200000u= s / v afx]s cGo af6f];+u hf]l8Psf hUufx? 200000
3= Aff6f]n] g5'g] ;Dk'0f{ hUufx? 80000

@= ef]qmfxf
s= dx]Gb| /fhdfu{;u hf]l8Psf hUufx? 900000
v= ef]qmfxf  uf=lj=;=sf lkr ;8s;+u hf]]l8Psf hUufx? 700000
u= ef]qmfxf  uf=lj=;=sf zfvf leqL lkr ;8s;+u hf]]l8Psf hUufx? 650000
3= k|s/0f -s_ df k/]sf hUuf jfx]s j8f g+= @, %, ^, &, ( sf bfof 

jfof ;8s;+u hf]l8Psf hUufx?
600000

ª= dfly k|s/0f df gk/]sf uf=lj=;= sf cGo jf8{x? !,#,$,* sf bfof 
jfof ;8ssf hUuf;Fu hf]l8Psf hUufx?

300000

r= ;a} j8fsf leqL af6f];+u hf]l8Psf hUufx? 100000r= ;a} j8fsf leqL af6f];+u hf]l8Psf hUufx? 100000
5= dfly k|s/0fx?df k/]sf hUuf jfx]s jfls ;f] uf=lj=;= sf ;Dk'0f{ 

hUufx?
75000

19



*=b]jfgu+h ufpkflnsf
uf=lj=;=÷ ljj/0f cf=j=077÷078

sf nflu Go"gtd 
d"Nofs+g k|lt s&\&f

!= b]jfgu+h
s= d'n ;8s tyf kSsL ;8s;+u hf]l8Psf hUufx? 600000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 450000
u= ;Dk'0f{ j8fsf bfof jfof jf6f];+u hf]l8Psf hUufx? 300000u= ;Dk'0f{ j8fsf bfof jfof jf6f];+u hf]l8Psf hUufx? 300000
3= ;Dk'0f{ j8fsf leqL jf6f];+u hf]l8Psf hUufx? 200000
ª= k|s/0f u ;Dd gk/]sf] jfFsL ;Dk'0f{ af6f]n] g5f]Psf hUufx? 100000

@= /f=;L=
s= d'n ;8s tyf kSsL ;8s;+u hf]l8Psf hUufx? 300000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 250000
u= cGo af6f];+u hf]l8Psf hUufx? 200000
3= Aff6f]n] g5'g] ;Dk'0f{ hUufx? 100000

#= sKtfgu+h
s= 350000s= d'n tyf klSs ;8s;Fu hf]l8Psf hUufx? 350000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 300000
u= lelq ;8s;Fu hf]l8Psf hUUffx? 100000
3= dfly k|s/0fdf pNn]v k/]sf afx]s ;f] uf=lj=;= sf ;Dk"0f{ hUufx? 50000

$= dWoxif{fxL
s= d'n;8s tyf kSsL ;8s ;+u hf]l8Psf hUufx? 350000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 300000
u= k|s/0f s df k/]sf jfx]s dWoxiff{xL uf=lj=;=sf ;j} j8fsf bfof 

jfof ;8s af6f];Fu hf]l8Psf hUufx?
200000

3= ;j} j8fsf leqL af6f];+u hf]l8Psf hUufx? 1000003= ;j} j8fsf leqL af6f];+u hf]l8Psf hUufx? 100000
ª= k|s/0f -v_ df k/]sf afx]s ;f] uf=lj=;=sf afFsL ;Dk"0f{ hUufx? 50000

% zfx]au+h
s= d'n ;8s tyf kSsL ;8s;Fu hf]l8Psf hUufx? 350000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 300000
u= dfly k|s/0f s df k/]sf hUUff jfx]s ;f] uf=lj=; sf bfof jfof 

;8s;+u hf]l8Psf hUufx?
200000

3= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 100000
ª= dfly k|s/0fdf k/]sf] afx]s ;f] uf=lj=;= sf ;Dk"0f{ hUufx? 50000
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(=u9L ufpkflnsf
uf=lj=;=÷ ljj/0f cf=j=077÷078

sf nflu Go"gtd 
d"Nofs+g k|lt s&\&f

!= cf}/fjgL
s= d'n ;8s tyf kSsL ;8s;+u hf]l8Psf hUufx? 995000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 900000v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 900000
u= ;Dk'0f{ j8fsf bfof jfof ;8s;+u hf]l8Psf hUufx? 800000
3= k|s/0f s, v df k/]sf jfx]s ;a} j8fsf lelq ;8s;+u 

hf]l8Psf hUufx?
400000

ª= Aff6f]n] g5'g] ;Dk'0f{ hUufx? 100000

@= l56fxf
s= d'n ;8s tyf kSsL ;8s;Fu hf]l8Psf hUufx? 700000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 550000
u= bfof jfof jf6f];+u hf]l8Psf hUufx? 400000
3= ;Dk'0f j8fsf leqL jf6f];+u hf]l8Psf hUufx? 2000003= ;Dk'0f j8fsf leqL jf6f];+u hf]l8Psf hUufx? 200000
ª= Aff6f]n] g5'g] ;Dk'0f{ hUufx? 75000

#= dw]nL
s= j8f g+= ! sf d'n ;8s tyf kSsL ;8s;+u hf]l8Psf 

hUufx?
600000

v= j8f g+= ! sf Zffvf kSsL jf6f]n] 5f]Psf hUufx? 550000
u= j8f g+= ! sf bfof jfof ;8s 5'g] hUufx? 500000
3= j8f g+= ! sf lelq ;8sn] 5'g] hUufx? 300000
ª= j8f g+= @ b]lv ( ;Dd d'n ;8s tyf kSsL ;8s;+u 

hf]l8Psf hUufx?
500000

r j8f g+= @ b]lv ( ;Dd zfvf kSsL ;8s;+u hf]l8Psf 400000r j8f g+= @ b]lv ( ;Dd zfvf kSsL ;8s;+u hf]l8Psf 
hUufx?

400000

5 j8f g+= @ b]lv ( ;Dd sf ;8sn] 5'g] hUufx? 250000
h j8f g+= ! b]lv ( ;Ddsf jf6f]n] g5f]Psf hUufx? 100000

$=;Q]/emf]/f
s jljof x'b} lj/f6gu/ hfg] lkr ;8s ;Fu hf]l8Psf 38]/Lsf 

hUufx?
800000

v ## g+= ;Q]/emf]/f uf=lj=;= sf bfofF jfofF ;8s;Fu hf]l8Psf 
38]/Lsf hUufx?

350000

u dfly -s_ df k/]sf afx]s pQm uf=lj=;= sf leqL ;8sjf6f]sf 
hUufx?

150000
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hUufx?
3 dfly k/]sf afx]s ## g+= ;Q]/emf]/f uf=lj=;= sf ;8sn] 

g5f]Psf hUufx?
70000



!)=xl/gu/ ufpkflnsf
uf=lj=;=÷ ljj/0f cf=j=077÷078

sf nflu Go"gtd 
d"Nofs+g k|lt s&\&f

!= a;Gtk'/
s= d'n ;8s tyf kSsL ;8s;+u hf]l8Psf hUufx? 500000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 350000
u= s / v afx]s cGo af6f];+u hf]l8Psf hUufx? 200000u= s / v afx]s cGo af6f];+u hf]l8Psf hUufx? 200000
3= Aff6f]n] g5'g] ;Dk'0f{ hUufx? 80000

@= /f=e'
s= d'n ;8s tyf kSsL ;8s;+u hf]l8Psf hUufx? 900000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 600000
u= ;j} j8fsf  bfof jfof jf6f];+u hf]l8Psf hUufx? 450000
3= ;j} j8fsf leqL jf6f];+u hf]l8Psf hUufx? 200000
ª Aff6f]n] g5'g] ;Dk'0f{ hUufx? 100000

# rf]/ 3l6of
s= 500000

                          

s= rf]/3l6of uf=lj=;= sf klSs ;8s ;+u hf]l8Psf hUufx? 500000
v= Zffvf kSsL jf6f]n] 5f]Psf hUufx? 350000
u= rf]/3l6of uf=lj=;= sf bfof jfof ;8s af6f];Fu hf]l8Psf 

hUufx?
250000

3= pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 150000
ª k|s/0f -s_ , -v_ / -u_ df k/]sf afx]s ;f] uf=lj=;= sf ;Dk"0f{ 

hUufx?
75000

$=3':sLxf6
s 3':sLxf6 uf=lj=;= sf ahf/ Pl/of tyf d"n ;8s;Fu hf]l8Psf 700000.s

=
3':sLxf6 uf=lj=;= sf ahf/ Pl/of tyf d"n ;8s;Fu hf]l8Psf 
hUufx?

700000.

v
=

pQm uf=lj=;= sf bfofF jfofF ;8s;Fu hf]l8Psf 38]/Lsf hUufx? 200000.

u
=

dfly -v_ ;Dd klg gk/]sf pQm uf=lj=;= sf leqL ;8sjf6f]sf 
hUufx?

100000.

3

=

dfly pNn]v ePsf afx]s 3':sLxf6 uf=lj=;= sf ;8sn] g5f]Psf
hUufx?

70000.
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%=xl/gu/f
s

=
xl/gu/f uf=lj=;= j8f g+= !,@,#,$,% / & sf d'n ;8s;Fu 
hf]l8Psf hUufx?

800000.

v xl/gu/f uf=lj=;= sf cGo kSsL ;8ssf hUufx? 600000.
u dfly -s_ df k/]sf afx]s cGo bfofF jfofF ;8s;Fu hf]l8Psf 

hUufx?
400000.

3 dfly -v_ ;Dd k/]sf afx]s xl/gu/f uf=lj=;= sf leqL
;8sjf6f]sf hUufx?

200000.

ª dfly pNn]v ePsf afx]s xl/gu/f uf=lj=;= sf ;8sn] g5]fPsf  70000.ª dfly pNn]v ePsf afx]s xl/gu/f uf=lj=;= sf ;8sn] g5]fPsf  
hUufx?

70000.
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!!=sf]zL ufpkflnsf
uf=lj=;=÷ ljj/0f cf=j=077÷078

sf nflu Go"gtd 
d"Nofs+g k|lt s&\&f

!= nf}sxL
s /fhdfu{, d'n ;8s tyf lkr ;8s;Fu hf]l8Psf hUufx? 2000000s /fhdfu{, d'n ;8s tyf lkr ;8s;Fu hf]l8Psf hUufx? 2000000
v nf}slx uf=lj=; jf8{ g= $,%,^ sf lelq lkr ;8s;Fu hf]l8Psf 

hUufx?
1200000

u ;Dk"0f{ j8fsf bfofjfof ;8s;u hf]l8Psf hUUffx? 800000
3 ;Dk"0f{ j8fsf leqL ;8sx?;u hf]l8Psf hUUffx? 400000
ª nf}sxL uf=lj=;= ! b]lv ( ;Ddsf jf6f]n] g5'g] hUufx? 100000

@ >Lk'/hAbL
s j8f g+= * / ( sf /fhdfu{;Fu hf]l8Psf hUufx? 500000
v j8f g+= ! b]vL ( ;Ddsf leqL lkr af6f];Fu hf]l8Psf hUufx? 300000
u k|s/0f -s_ df k/]sf hUuf afx]s j8f{ g+= ! b]lv ( ;Ddsf u k|s/0f -s_ df k/]sf hUuf afx]s j8f{ g+= ! b]lv ( ;Ddsf 

cGo bfof jfof  ;8s;Fu hf]l8Psf hUufx?
200000

3 k|s/0f -s_ df k/]sf hUufx? afx]s j8f g+= ! b]vL ( ;Ddsf 
leqL ;8s ;Fu hf]l8Psf hUufx? 

100000

ª k|s/0f s b]lv 3 ;Dddf gk/]sf ;Dk"0f{ hUufx? 50000

#= x/Lk'/
s x/Lk'/ uf=lj=;= j8f g+= ( sf d"n ;8s tyf kSsL ;8sf 

hUufx?
1500000

v x/Lk'/ uf=lj=;= j8f g+= ( sf leqL kSsL ;8sf hUufx? 1200000

u x/Lk'/ uf=lj=;= j8f g+= ( sf bfof jfof ;8sdf hf]l8Psf]  
hUufx?

300000u
hUufx?

300000

3 pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 150000

ª x/Lk'/ uf=lj=;= j8f g+= * sf d"n ;8s tyf ahf/ Pl/ofsf 
hUufx?

900000

r x/Lk'/ uf=lj=;= j8f g+= * sf leqL kSsL ;8ssf hUufx? 700000

5 x/Lk'/ uf=lj=;= j8f g+= * sf bfof jfof ;8sdf hf]l8Psf]  
hUufx?

300000

h pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 150000

em
;f] uf=lj=; sf cGo ;Dk'0f{ j8fsf /fhdfu{ tyf  kSsL ;8s 
df 5'g] cGo ;Dk'0f{ hUUffx?

350000

` ;f] uf=lj=; sf cGo ;Dk'0f{ j8fsf leqL kSsL ;8s df 5'g] 
hUUffx?

300000
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hUUffx?
300000

6 dfyL k|s/0fdf gkg]{ jf8{ !,@,#,$,%,^,& sf bfof jfof jf6f] 
5'g] hUufx?

200000

7 pQm j8fsf leqL af6f];+u hf]l8Psf hUufx? 100000
8 pQm uf=lj=; sf afFsL ;Dk"0f{ hUufx? 50000



$=klZrd s'zfxf
s klZrd s'zfxf jf8{ g+= #, &,( sf d"n ;8s;Fu hf]l8Psf 

hUufx?
800000.

v klZrd s'zfxf uf=lj=;sf kSsL ;8s;Fu hf]l8Psf hUufx?  500000.
u dfly -s_ df pNn]v ePsf afx]s pQm uf=lj=;= sf bfofF jfofF 

;8s;Fu hf]l8Psf hUufx?
200000.

3 dfly pNn]v ePsf afx]s klZrd s'zfxf uf=lj=;= sf ;8sn]
hUufx?

70000.

vf]nf s6fg ;DjGwdf

hUufx?

vf]nf s6fg ;DjGwdf
vf]nf s6fgdf  k/]sf hUufsf] xsdf ;DaGwLt JolQmsf] dfu bfjL ePdf gfkL sfof{nonfO{ ;f]wLg] 5 . 

gfkL sfof{nojf6 Plsg eO{ cfPdf ;f] hUufsf] xsdf vf]nf s6fgsf] nflu tf]lsPsf] d"NofÍg sfod 
ul/g]5 . If]qkmn Plsg ug]{ ;DaGwdf cfjZostfg';f/ gfkL sfof{no tyf dfnkf]t sfof{no;d]tsf] ;+o'Qm 
6f]nL uO{ ;DaGwLt hUufsf] :ynut lgl/If0f ul/ If]qkmn Plsg ug{ ;lsg]5 .

cf=j= 
)&^÷)&&  
Go"gtd d"NofÍg

cf=j= 
)&&÷)&*  
Go"gtd d"NofÍg

!= 6ofu|f tyf j'l9 vf]nfn] s6fg u/]sf hUufx?sf] 
tkl;n jdf]lhd d"Nofs+g sfod ug]{tkl;n jdf]lhd d"Nofs+g sfod ug]{

!=!– O6x/L j8f g+= ! / $ sf] hUufx? k|lt s7\7f 1,50,000. 2,00,000.

!=@– O6x/L j8f g+= @ / # sf] hUufx? k|lt s7\7f 1,00,000. 1,50,000.

!=#– vgf/ j8f g+= & / * sf] hUufx? k|lt s7\7f 35,000. 50,000.

@= Og?jf g=kf= j8f g+= #,%,^ / & sf] ;'g;/L vf]nf 
tyf sq'm ?vf vf]nfn] gf]S;fg kf/]sf] k|lt s7\7f ?=

42,000. 50,000.
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tyf sq'm ?vf vf]nfn] gf]S;fg kf/]sf] k|lt s7\7f ?=

#= ;fljs b'xjL uf=lj=;=sf j'l9 vf]nfn] If]lt 
k'¥ofPsf jf8{ Jnssf hUuf k|lt s7\7f ?=

30,000. 50,000.



$= dx]Gb|gu/ uf=lj=;= sf j8f g+= %,^ / ( sf 8'jfg 
If]qdf k/]sf] hUufsf] xsdf dfq k|lt s7\7f ?=

15,000. 25,000.

Go'gtd d'NofËg k'l:tsf )&&÷)&* sf] sfof{Gjogsf nfuL cfjZos ljlgod tkl;n 
adf]lhd bkmf ! af6 bkmf !$ ;Dd kf/Lt ug{] lg0f{o u/Lof] . 

bkmf ! d"NofÍgsf ljleGg k|s/0fdf pNn]v ePsf] d"No k|lt s7\7f sf] d"No dflgPsf] 5 .

bkmf @

ut jif{ s} k|fjwfg cg';f/ O{6x/L, O{g?jf g=kf= nufot ;a} g=kf= tyf 
uf=lj=;=x?df lnvt kfl/t ubf{ kfl/t x'g] hUufdf 3/ tyf jf6f] eP÷gePsf] ;fy} 
jf6f] ePdf jf6f]sf] ls;Ld ;d]t Plsg ljj/0f v'n]sf] l;kmfl/; kq ;DjlGwt 
uf=lj=;=÷g=kf= jf6 u/fO{ lnvt ;fy k]z ug'{ kg]{ 5 .uf=lj=;=÷g=kf= jf6 u/fO{ lnvt ;fy k]z ug'{ kg]{ 5 .

bkmf #

lgwf{/0f ul/Psf] hUufsf] d'Nofsg eGbf sd x'g] ul/ s'g} klg Joxf]/fn] /fhZj sd 
u/fO{ lnvtx? Kffl/t u/fPsf] Joxf]/f kl5 sfof{nonfO{ hfgsf/L x'g cfPdf hlt 
gk'u /fhZj /sd 5 To:tf] gk'u ePsf] /sd ;DjlGwt 3/ hUuf jf hUuf dfq 
vl/b ljqmL ul/ lng] lbg] JolQm, ;+3, ;+:yf jf sDklg ;d]tjf6 gk'u eP hlt 
/fhZj hf] h;af6 c;'n pk/ ug{' kg{] xf], lghx?af6 ;/sf/L jfls ;/xsf] k|ls|of 
cg';f/ 3/ hUUff /f]Ssf /flv ;DjlGwt JolQm, ;+3, ;+:yf jf sDklgaf6 /fhZj c;'n 
pk/ ul/g]5, c;'n pk/ ePk5L /f]Ssf /flvPsf] 3/ jf hUuf jf b'j} km's'jf ul/g]5 .

bkmf $

kfl/tsf nflu sfof{nodf k]z ePsf lnvtx?df y}ln c+s sfod ug]{  l;nl;nfdf 
tf]lsP jdf]lhdsf] d'Nofªsgdf ;DjlGwt JolQmjf6 ljjfb ePdf hUuf kfl/t ug'{ 
eGbf klxn] To; lsl;dsf hUufx?sf] lkmN8 lgl/If0f ul/ gfkL sfof{nosf] ;xof]udf bkmf $ eGbf klxn] To; lsl;dsf hUufx?sf] lkmN8 lgl/If0f ul/ gfkL sfof{nosf] ;xof]udf 
d'Nofªsg Plsg ul/ lnvtdf y}ln c+s sfod ul/ lgod cg';f/ lnvt kfl/t 
ul/g]5 .

bkmf %
lnvt kfl/t x'g cfpbf Go'gtd d'Nofªsg Plsg ug{ cfjZos k/]df Cl0f÷wlgn] 
;fljs xfn b]lvg] gS;f lk|G6 k]z ug'{ kg]{ 5 .

bkmf ^
kfl/tsf nflu k]z ePsf lnvtx?df d'Nofªsgsf] Joxf]/f / 3/ eP÷gePsf] Joxf]/f 
Cl0f wlgn] pNn]v u/]sf] x'g kg]{ 5 .

bkmf &
s'g} klg l;kmfl/;df l4ljwf ePdf tyf sfof{nojf6 s]lx s'/f j'emg cfjZos 
b]lvPdf :ynut lgl/If0f ul/ Plsg ug{ ;lsg] 5 .

bkmf *

:yfgLo lgsfojf6 l;kmf/L; eO{ cfpg] hUuf /lh:6«];g nufot cGo l;kmf/L;x? 
unt x'g uPdf ;Dk'0f{ hjfkmb]xL d'n'sL ck/fw ;+lxtf @)&$ sf] kl/R5]b $ sf] 
;fj{hlgs Gofosf] lj?4sf] s;'/sf] bkmf () adf]lhd ;DaGwLt :yfgLo lgsfosf] 
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bkmf *
;fj{hlgs Gofosf] lj?4sf] s;'/sf] bkmf () adf]lhd ;DaGwLt :yfgLo lgsfosf] 
;f] l;kmf/L; k|df0fLt u/Llbg] kbflwsf/L g} x'g]5 .

bkmf ( :yfgLo lgsfosf] l;kmf/L;df pNn]v ePsf] 3/sf] d'NofËgnfO{ cfwf/ dflgg] 5 .

bkmf !)
d'NofÍsgsf ljleGg k|s/0fx?df pNn]v ePsf lelq ;8s tyf jf6f] eGgfn] 
;DjlGwt :yflgo lgsfojf6 lnvt kfl/t k|of]hgsf nflu ul/ lbO{Psf] 3/ jf6f]sf] 



l;kmf/Lzdf pNn]v ePsf] u|fe]n tyf slRr ;8s;d]tnfO{ j'emfpg] 5 . To; 
lsl;dsf] l;kmfl/;sf] cfwf/df d'Nofªsg sfod ubf{ lelq ;8ssf] cfwf/df Go"gtd 
y}ln c+s sfod ul/ kfl/t ul/g] 5 .

bkmf !!
s'g} cf=j sf] kf/Lt lnvtdf hUufsf] d'NofËg sd x'g uPdf ;f]xL jif{sf] d'NofËg 
nfO{ g} cfwf/ dflgg]5 .

bkmf !@

:yflgo lgsfon] 3/af6f] l;kmf/L; ubf{ klxnf] k6s eGbf kl5Nnf] k6s Go'gtd 
d'Nofª\sg 36L x'g] u/L ug'{x'g] 5}g\,obL To:tf]] l;kmf/L;sf cfwf/df cl3Nnf] y}nL 
c+s eGbf kl5Nnf] y}nL c+s 36L eO{ lnvt kf/Lt ePsf] yfxf x'g cfPdf c;'n 
ug'kg{] ;Dk'0f{ s/, b:t'/ /fhZj C0fL wgLsf] ;Dkltaf6 c;'n u/Lg]5 / ;f] c;'n 
ug{ lghx?sf] ;Dklt;d]t /f]Ssf /fvL ;f] ;DaGwdf :yfgLo lgsfonfO{ ;d]t 
hfgsf/L u/fO{g]5, c;'n pk/ ePk5L /f]Ssf /flvPsf] ;Dklt km's'jf ul/g]5 .

bkmf !#

s'g} klg hUuf vl/b ljqmL ug{] C0fL wgLnfO{ ;f] hUuf s'g k|s[ltsf] af6f]n] 5f]Psf] 
jf g5f]Psf] eGg] :ui6 1fg x'g] x'Fbf obL s;}n] Go'gtd d'Nofª\sg 36L kfg{] p2]Zon] 
af6f]sf] oyfy{ ljj/0f n'sfO{ l;kmf/L; NofO{ lnvt kf/Lt u/]sf] yfxf x'g uPsf 
sfof{nojf6 lghx?sf] ;DktL /f]Ssf /flv jf g/fvL sd x'g uPdf /fhZj c;'n 
u/Lg]5 . ;fYf} vl/b ljqmL ug{] C0fL wgL dfyL d'n'sL ck/fw ;+lxtf @)&$ sf] bkmf 
(! ;d]t cfslif{t x'g]5 .

bkmf !$
:yfgLo txaf6 cfpg] 3/ af6f]sf] l;kmf/L;df af6f]sf] ljj/0fdf 9nfg, kfs{]6LË, 
OG6/ns, Ans af6f]nfO{ zfvf kLr af6f] ;/x dfgL ;f]xL cg';f/ d'NofËsg u/Lg]5 
.

bkmf !% of] lg0f{o )&& ;fn >fj0f ! ut] b]lv nfu' x'g] 5 .
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